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EEIEE 88,524, 335
MEIEE 7,210,222 + 22,392,312 29, 602, 534
#HBREE GD 942,700 + 5,674,409 + 593,113 7,210, 222
HBRFE (BE) 942,700
HBEREE (F) 88,524,335 x 6.41% (4.91% +1.50%) 5,674, 409
BERERER 88,524,335 x 0.67% 593,113
RigEEE 95,734,557 x 23.39% (21.86% +1.53%) 22,392,312
TR 88,524,335 + 29,602, 534 118, 126, 869
—REEERE 118,126,869 x 15.18% (15.18% x 1.00) — 5,777 17,925, 881
ZHIRITE 118,126,869 x 0.04% 47, 250
T4 118,126,869 + 17,925,881 + 47,250 136, 100, 000
HEGEHRLE 136,100,000 x 10.00% 13,610, 000
FEIZRE 136,100,000 + 13,610, 000 149, 710, 000
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EEISE 88,524, 335
BriRiZ - BHRDIR - BiRiE 88, 524, 335
RKEI [(7—v o] 88, 524, 335
=y VBT 88,524, 335
K@ 126, 615
1 Em 345.00 367 126, 615
m2
<y bk 3, 450, 000
2 JLRTY ~(BEE)RE 1.00 3, 450, 000 3, 450, 000
&3]
Ri5 5, 745, 830
3 HELHEEEL 1,304.00 2,355 3,070, 920
m2
4 NEBSHEL 1,442.00 1,855 2,674,910
m2
£330 27,011, 422
5 kAT 4L SD345 D13 20, 167.00 186 3,751,062
kg
6 $kAFMNT4ESL SD345 D16 55,115.00 184 10, 141, 160
kg
7 $kFAMMT#ASL  SD345 D19 21,135.00 184 3, 888, 840
kg
8 $kAFMNTA4ESL SD345 D22 27,422.00 184 5,045, 648
kg
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9 $kFAMT#ASL SD345 D25 22,743.00 184 4,184,712
kg

5330 5, 625, 228

10 B&kAF SS400 ¢ 95mm L=7.3m 40.00 111, 000 4, 440, 000
PN

11 BEkAR#AIL SS400 ¢ 95mm L=7.3m 16, 236. 00 73 1,185, 228
kg

B 26, 961, 660

12 SR B 4R ST HH 4 5,049.00 5, 340 26,961, 660
m2

avyy—+k 19,517, 870

13 a9 1— T8 1,258.00 15,515 19,517, 870
m3

BKAD 24, 464

14 @/KFD VP150 L=300mm 44.00 556 24, 464
&R

BKALD 2,178

15 @/KF@ VP50 L=300mm 22.00 99 2,178
&l

Bk FL 664

16 #EKFL VP50  L=500mm 4.00 166 664
AT

RSk 58, 404

17 ##5a#kas SD345 D13 314.00 186 58, 404




BERNRE SHIEE SME=BEHMRFFRIE @) IB(Z0@Q))

% [ Btk - AR B B B i ® & B =

#BERRE EL) 942, 700
HBEREE 942, 700
BT 906, 300
EEREMAREEER 906, 300
18 7 A LB 1.00 906, 300 906, 300
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RifgEE 36, 400
BEIREIEERE 36, 400
19 BEITERIRERE 1.00 36, 400 36, 400
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m2 120. 00 26. 00 3,120
L3¢l
m3 5.00 2, 400. 00 12,000
HEE &
A 0.20 22,100. 00 4,420
LEEES
A 1.00 17, 200. 00 17, 200
& it YEZ8EH : 100.00m 2 367.00 36, 740
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% E R - BRRTE BARL 2 B & # i &
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B 1.00 3, 450, 000. 00 3, 450, 000
& &t YEE8EH - 1. 008" 3,450, 000. 00 3,450, 000
&5 :3
B SRR R IHEE A 100m234Y
4 b g - BRKTE By 2 B & # 5 &
MERERSEIL (F—Y V8 JL—rkE
m2 100. 00 2,100. 00 210, 000
s0—549 L— GhHEEES ) 80tH
=] 0.30 85,122.00 25,536 8H
& &t YEZ8EH : 100.00m 2 2,355.00 235,536
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2 L R - K& By H = B & %8 5 &
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m2 100. 00 1, 600. 00 160, 000
90—59L— GHERER) 80tH
=] 0.30 85,122.00 25,536 8H
& &t YEZHEH : 100.00m 2 1, 855. 00 185, 536
E5:5
W #kFmT 4L SD345 D13 1000k g5 Y
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k g 1,030. 00 101. 00 104, 030
BEMITAAIL (r—v o 81E) HL—uiRE
k g 1, 000. 00 65. 00 65, 000
sBa—39 L—y GHEEREHR) 80tH
=] 0.20 85,122.00 17,024 8H
& it YE%HEH :1,000.00k g 186. 00 186, 054
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2 kAT AT SD345 D16 1000k g4V
% E A - kTiE B H = B & el 5 &=
% (2 SD345 D16
k g 1, 030. 00 99. 70 102, 691
SAMITHAL (r—Y > 81E) JL—rkE
k g 1, 000. 00 65. 00 65, 000
90—59L— GHERER) 80tH
B 0.20 85,122.00 17,024 8H
& &t YEZ8EH :1,000.00k g 184. 00 184, 715
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k g 1, 030. 00 99.70 102, 691
AT 4R (r—v Vo 84E) HL—uiRE
k g 1, 000. 00 65. 00 65, 000
oR—59L—2 (HEERER) 80tH
B 0.20 85,122.00 17,024 8H
& it YE%8tH :1,000.00k g 184. 00 184, 715
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% (B SD345 D25
k g 1, 030. 00 99.70 102, 691
SAMITHAL (r—Y o 84E) JL—rkE
k g 1, 000. 00 65. 00 65, 000
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=] 0.20 85,122.00 17,024 8H
& &t YEZ8EH :1,000.00k g 184.00 184, 715
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MEL R AR AR (r— Y D BE) JL—rikE
m 2 100. 00 5, 000. 00 500, 000
80— L—r (HERE) 80t A
=] 0.40 85,122.00 34,048 8H
& H YEZHEH : 100.00m 2 5, 340. 00 534,048
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m 3 10. 10 11, 500. 00 116, 150
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m 3 10. 00 3, 900. 00 39, 000
& H 1E%8EH : 10.00m 3 15,515.00 155, 150
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Z: 1.00 99. 00 99
& H YE¥REH : 1.00&FR 99. 00 99
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P 1.00 166. 00 166
= g YEZX8BEH : 1. 006 FR 166. 00 166
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A tHsREkAR  SD345 D13 1000k g &Y
4 L R - KT By 8 = il & %8 5 &=
&5 (ER) SD345 D13
k g 1,030. 00 101. 00 104, 030
BEMITAAIL (r—v o 81E) JL—rikE
k g 1, 000. 00 65. 00 65, 000
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=] 0.20 85,122.00 17,024 8H
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H 1.50 53, 500. 00 80, 250 8H
YEIRIEES
A 5.50 20, 100. 00 110, 550
EWEEER HFEEEDY
% 375.00 190, 800. 00 715,500
& it YE¥REH : 1.00 906, 300. 00 906, 300
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¥ BEIBEIEERE 1Y
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